The Mole

Class

Date

Given the reaction:

C¢H1206(s) + 60,(g) — 6CO,(g) + 6H,(1)
Hf Moles of CgH,,04(s) are
n¢eded 10y produes, 24 moles-of
carbom-iox it
A 1.0 mole > 24 mole:

B 12 moles /D 4.0 ole

Name
o Which sample contains a total
of 9.0 x 1022 atoms?
A 0.50 moie of HCi .~ ':,
B 07T Mok 0T 6 J \
C olas.of CH | '. \
D bf ‘ o | |
(po |
¥
e A closed container holds 3.0 moles of CO,

gas at STP. What is the total number of
moles of Ne(g) that can be placed in a

Ll L OO0

Given the balanced equation:
3Fe%* (aq) + Al(s) — 3Fe?* (aq) + AIP* (aq)
What is the total number of moles of

PREVIEW
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What is the total number of moles of water
needed to make 2.5 moles of C;H,,0.?

A 25 i o
E 50 -
o

y !

e (Give \ationf
2C,H,(g)-+ 50,(g) — 4C0,(9) + 2H,0(g)

How many moles of oxygen are required
to react completely with 1.0 mole of C,H,?

A 25
B 2.0
C 5.0
D 10

liter of solution?

A10M
B
C 025M

/Hhat is the, nblarity| of a selutionNaet]
if 2 liters of the solution contains 4 moles
of NaOH?

A05M
B2M
Cs8M
D 80M
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W The Mole

Name Class Date
o Which sample contains a total e Given the reaction:
23
SR E T At CgH1204(s) + 60,(g) — 6CO,(g) + BH,(1)
A U50moeortc —— ) | H¢ noles of C4H,,04(s) are
B O nie 0T Fee—_ |4 (’\\ needed to, produes, 24, moles-of @
C olas of CHF l‘ '.\ ‘\, T Cs Lo S
D of Rl | 3 A 1.0mole/ C 24 mole
it ‘ B. 2 moles /D 4.0 lolg
|
e A closed container holds 3.0 moles of CO, o Given the balanced equation:
gas at STP. What is the total number of 3Fe¥ (aq) + Al(s) — 3Fe?* (aq) + AP (aq)
moles v N?f.g) = can = pllicfgrfn i What is the total number of moles of
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What is the total number of moles of water liter of solution?
needed to make 2.5 moles of C;H,,0.? @ A10M @
A 25 i ) B
B ol —_— C025M
c ’ i D
D
A | ; o S
e (Gives ation: ‘ :9' MMhat is they bl ritylof a SelUtiorhaNaoH]
2C,Hy(g)+ 50,(g) — 4C0,(g) + 2H,0(g) if 2 liters of the solution contains 4 moles
. of NaOH?
How many moles of oxygen are required
to react completely with 1.0 mole of C,H,? @ A 05M
A 25 B2M
B 2.0 C8M
C 50 D 80M
D 10
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